cuss B0

s
[ONw—— LUBRICATION SYSTEM,
LUBECORI

SiZE |DWG. REV

NO.
722025-A1

SVETNE IO SCALE: 132 WEIGHT: 4572731818ET 1 OF 1

1

722025-A1

D

A



TICO PRO-SPOTTER

LUBRICATION SYSTEM, LUBECORE, 28 PT I 722025
ITEM PART # QTY/M DESCRIPTION
722025-A1 REF |LUBRICATION SYSTEM, LUBECORE, 28 PT
1 91849 1 LUBRICATION SYSTEM - LUBECORE, 28 PT
2 80175 4 SCREW, SOCHD 10mmx 1.5x30Lg
3 122809 1 STANDOFF, LUBECORE, FRAME XMEMBER
4 82418 3 BOLT, HEX, 1/2-13 X 2 LG
5 85027 3 LOCKNUT, NYLOCK, 1/2-13
6 85093 6 WASHER, FLAT, 1/2
7 122812 1 BRACKET, LUBECORE, FRAME XMEMBER
8 82407 4 BOLT, HEX, 1/2-13 X 1-3/4 LG
9 85027 4 LOCKNUT, NYLOCK, 1/2-13
10 85093 8 WASHER, FLAT, 1/2
11 122813 1 BRACKET, MUDFLAP, LUBECORE, FRAME XMEMBER
12 82383 2 BOLT, HEX, 3/8-16 X 1-1/4 LG
13 85025 2 LOCKNUT, NYLOCK, 3/8-16
14 85091 4 WASHER, FLAT, 3/8
15 91827 1 BAFFLE, HEADLIGHT BRACKET, ISB 13, UPS
16 12772-3 1 BACKING, HEADLIGHT BRACKET RH
17 82383 4 BOLT, HEX, 3/8-16 X 1-1/4 LG
18 85025 4 LOCKNUT, NYLOCK, 3/8-16
19 85091 8 WASHER, FLAT, 3/8
NOT SHOWN 80032 2 LBS [GREASE-LITHIUM BASE, GRADE NGLI #00
NOT SHOWN 91021 1 FUSE - 5 AMP ATO, F13
REV DATE BY SHEET
A 6/7/2018 MAL 10F

TICO MANUFACTURING - RIDGELAND, SC 29936






